

The estimation of $\int_a^b g(x)e^{ih(x)} dx$ using saddle point method

KAZUO GOTO*

(Received June 5, 1998)

1 Abstract

It is known [E or D] that $\int_a^b g(x)e^{ih(x)} dx = \sqrt{2\pi\alpha} \frac{1}{\sqrt{|h''(c)|}} g(c)e^{ih(c)} \left(1 + O\left(\frac{1}{t}\right)\right)$, where a is the complex number with modulus 1.

In this paper we have detailed results including the dependency of O term. In [G], we apply the Theorem 1 and Theorem 2 (below) to estimate the order of $\sum_{n=1}^N e^{2\pi i h(\alpha n \log n + \beta n)}$.

2 Lemmas

The following Lemma 1, 2, and 3 runs the same lines as that of [D]. We treat carefully the dependency of O term.

Lemma 1. Let α, β, a , and d be real numbers such that $d \neq 0, 0 < \alpha + 1 < \beta$. Then we have, for $\tilde{b} \rightarrow \infty$ or $t \rightarrow \infty$,

$$\int_0^{\tilde{b}} x^\alpha e^{it(\alpha + dx^\beta)} dx = A \frac{e^{iat}}{\beta(d|t|)^{(\alpha+1)/\beta}} - \frac{1}{i} \cdot \frac{1}{d} b^{(\alpha+1)-\beta} \frac{1}{\beta} \cdot \frac{1}{t} e^{iN} e^{iat} + O\left(b^{(\alpha+1)-\beta} \frac{1}{\beta(dt)^2}\right),$$

where $N = db^\beta t$, the constant implied by the O is absolute and

$$A = \int_0^\infty x^{(\alpha+1)/\beta} e^{iu} du = \begin{cases} e^{\frac{1}{2} \frac{\alpha+1}{\beta} \pi i} \Gamma\left(\frac{\alpha+1}{\beta}\right) & \text{if } d > 0 \\ e^{-\frac{1}{2} \frac{\alpha+1}{\beta} \pi i} \Gamma\left(\frac{\alpha+1}{\beta}\right) & \text{if } d < 0 \end{cases}.$$

Proof. We set $d > 0$ and $u = dtx^\beta$. We have

$$\int_0^{\tilde{b}} x^\alpha e^{it(\alpha + dx^\beta)} dx = \frac{e^{iat}}{\beta(dt)^{(\alpha+1)/\beta}} \int_0^{db^\beta t} u^{(\alpha+1)/\beta - 1} e^{iu} du.$$

We have to prove that the integral $\int_0^\infty u^{\lambda-1} e^{iu} du$ converges for $0 < \lambda = (\alpha+1)/\beta < 1$. Integrating by parts, we have

$$\int_N^\infty u^{\lambda-1} e^{iu} du = -\frac{1}{i} N^{\lambda-1} e^{iN} + \frac{\lambda-1}{i} \int_N^\infty u^{\lambda-2} e^{iu} du.$$

* Department of Mathematics, Faculty of Education, Tottori University, Tottori, 680-0945, Japan

The function $u^{\lambda-2}$ is monotone decreasing. Applying the second mean value theorem to the real and imaginary parts, we obtain

$$\int_N^\infty u^{\lambda-1} e^{iu} du = -\frac{1}{i} N^{\lambda-1} e^{iN} + O(N^{\lambda-2})$$

as $N \rightarrow \infty$, where the constant implied by the O absolute. Then we obtain

$$\begin{aligned} \frac{e^{iat}}{\beta(dt)^{(\alpha+1)/\beta}} \int_N^\infty u^{(\alpha+1)/\beta-1} e^{iu} du &= \frac{e^{iat}}{\beta(dt)^{(\alpha+1)/\beta}} \frac{-1}{i} (db^\beta t)^{\lambda-1} e^{iN} + O\left(\frac{b^{\alpha+1-\beta}}{\beta(dt)^2}\right) \\ &= \frac{-1}{id} b^{(\alpha+1)-\beta} \frac{1}{\beta t} e^{iat} e^{iN} + O\left(\frac{b^{\alpha+1-\beta}}{\beta(dt)^2}\right), \end{aligned}$$

the constants implied by the O 's are absolute.

Lemma 2. *Suppose that the real functions $g(x)$ and $h(x)$ satisfy the following conditions: For $x \in (0, b]$ and $\alpha = 0, \beta = 2$,*

1. $g(x) = Dx^\alpha(1 + \theta(x))$, $h(x) = a + dx^\beta(1 + f(x))$, as $x \rightarrow 0$;
where θ and f are continuous in $(0, b)$ with $\theta(0) = f(0) = 0$;
2. $g(x)$ is continuous, $h(x)$ twice continuously differentiable, and $h'(x) \neq 0$, where α, β, a, d , and D are real constants such that $d \neq 0, D \neq 0$.

3. $\frac{d}{dx} \left(\frac{g(x)}{h'(x)} \right)$ has a constant sign as $x \rightarrow 0$ and $x \rightarrow b$.

Under these conditions, as $t \rightarrow \infty$, we have, for sufficiently small $\delta > 0$,

$$\begin{aligned} &\int_0^b g(x) e^{ih(x)} dx \\ &= AD \frac{e^{iat}}{\beta(|dt|)^{(\alpha+1)/\beta}} + o\left(\frac{d^{-(\alpha+1)/\beta} D}{\beta} \frac{1}{t^{(\alpha+1)/\beta}}\right) + O\left(\frac{1}{t\beta}\right) + O\left(\left|\frac{g(b)}{h'(b)}\right| + \left|\frac{g(\delta)}{h'(\delta)}\right|\right) \frac{1}{t}, \end{aligned}$$

where the constants implied by the O 's and o are absolute.

Proof. Without loss of generality, we may suppose $d > 0$. Consider the function

$$\varphi(x) = x(d + df(x))^{1/\beta},$$

which is continuous and n -times continuously differentiable in $[0, \delta] \subset [0, b]$, and satisfies $\varphi(0) = 0$, $\varphi'(0) = d^{1/\beta} > 0$.

It can be assumed that δ has been chosen sufficiently small such that φ is strictly increasing in $[0, \delta]$. Let $\Psi(u)$ be its inverse function, continuous, n -times continuously differentiable, and strictly increasing in the interval $[0, \varphi(\delta)]$ satisfying $\Psi(0) = 0$, $\Psi'(0) = d^{-1/\beta}$. Then we have

$$g(\Psi(u)) = D(\Psi(u))^\alpha (1 + \theta(\Psi(u))) = Dd^{-\alpha/\beta} u^\alpha + O(u^{\alpha+1}), \quad (1)$$

where the constant implied by the O is independent of α and β .

Divide the interval $[0, b]$ into $[0, \delta]$ and $[\delta, b]$. In the first interval, changing the variable by $u = \varphi(x)$, we have

$$\begin{aligned} \int_0^\delta g(x)e^{ith(x)} dx &= \int_0^{\varphi(\delta)} g(\Psi(u))e^{ih(\Psi(u))}\Psi'(u)du \\ &= Dd^{-(\alpha+1)/\beta} \int_0^{\varphi(\delta)} u^\alpha e^{iu(\alpha+u^\beta)} du + \int_0^{\varphi(\delta)} g_1 e^{ith_1(u)} du, \end{aligned}$$

where, by virtue of (1),

$$g_1(u) = g(\Psi(u))\Psi'(u) - Dd^{-(\alpha+1)/\beta} u^\alpha = O(u^{\alpha+1}),$$

and the constant implied by the O is independent of α and β . We have

$$\frac{g_1(u)}{h_1'(u)} = O(u^{\alpha+1}) / \beta u^{\beta-1} = \frac{1}{\beta} O(u^{\alpha-\beta+2}) \text{ as } u \rightarrow 0,$$

where $h_1(u) = a + u^\beta$, and the constants implied by the O 's are independent of α and β . Thus

$$\begin{aligned} \int_0^b g(x)e^{ith(x)} dx &= \int_0^\delta g(x)e^{ith(x)} dx + \int_\delta^b g(x)e^{ith(x)} dx \\ &= Dd^{-(\alpha+1)/\beta} \int_0^{\varphi(\delta)} u^\alpha e^{iu(\alpha+u^\beta)} du + \int_0^{\varphi(\delta)} g_1(u)e^{ith_1(u)} du + \int_\delta^b g(x)e^{ith(x)} dx. \end{aligned}$$

Now we consider the three integrals, respectively. By Lemma 1, we have, for $N = t\varphi(\delta)^\beta$

$$\int_0^{\varphi(\delta)} u^\alpha e^{iu(\alpha+u^\beta)} du = \frac{e^{iat}}{\beta t^{(\alpha+1)/\beta}} A - \frac{e^{iat}}{\beta t^{(\alpha+1)/\beta}} \int_N^\infty u^{(\alpha+1)/\beta-1} e^{iu} du.$$

Since $h'(x) \neq 0$ on $[\delta, b]$ and $\frac{d}{dx} \left(\frac{g(x)}{h'(x)} \right)$ has a constant sign, we have

$$\begin{aligned} \int_\delta^b g(x)e^{ith(x)} dx &= \frac{1}{it} \int_\delta^b \frac{g(x)}{h'(x)} \frac{d}{dx} e^{ith(x)} dx \\ &= \frac{1}{it} \left[\frac{g(b)}{h'(b)} e^{ith(b)} - \frac{g(\delta)}{h'(\delta)} e^{ith(\delta)} \right] - \frac{1}{it} \int_\delta^b e^{ith(x)} \frac{d}{dx} \left(\frac{g(x)}{h'(x)} \right) dx = O \left(\left(\frac{g(b)}{h'(b)} + \frac{g(\delta)}{h'(\delta)} \right) \frac{1}{t} \right), \end{aligned}$$

as $t \rightarrow \infty$, where the constants implied by the O is absolute.

Since $\frac{d}{dx} \left(\frac{g_1(x)}{h_1'(x)} \right)$ has a constant sign, we have

$$\begin{aligned} \int_0^{\varphi(\delta)} g_1(u)e^{ith_1(u)} du &= \frac{1}{it} \int_0^{\varphi(\delta)} \frac{g_1(u)}{h_1'(u)} \frac{d}{du} e^{ith_1(u)} du \\ &= \frac{1}{it} \left[\frac{g_1(\varphi(\delta))}{h_1'(\varphi(\delta))} e^{ith_1(\varphi(\delta))} - \frac{g_1(0)}{h_1'(0)} e^{ith_1(0)} \right] - \frac{1}{it} \int_0^{\varphi(\delta)} e^{ith_1(x)} \frac{d}{dx} \left(\frac{g_1(x)}{h_1'(x)} \right) dx. \end{aligned}$$

Thus

$$\left| \int_0^{\varphi(\delta)} g_1(u)e^{ith_1(u)} du \right| \leq \left| \frac{2 g_1(\varphi(\delta))}{t h_1'(\varphi(\delta))} \right| = \frac{1}{t} \cdot \frac{1}{\beta} O \left(\varphi(\delta)^{\alpha-\beta+2} \right).$$

Since $\alpha = 0$, $\beta = 2$, we have, as $t \rightarrow \infty$,

$$\int_0^{\varphi(\delta)} g_1(u) e^{ih_1(u)} du = O\left(\frac{2}{t\beta}\right),$$

where the constants implied by the O is independent of α , β , δ , and t .

Thus, for sufficiently small fixed $\delta > 0$, we have, as $t \rightarrow \infty$,

$$\begin{aligned} & \int_0^b g(x) e^{ih(x)} dx \\ &= Dd^{-(\alpha+1)/\beta} \int_0^{\varphi(\delta)} u^\alpha e^{it(a+u^\beta)} du + O\left(\frac{2}{t\beta}\right) + O\left(\left(\left|\frac{g(b)}{h'(b)}\right| + \left|\frac{g(\delta)}{h'(\delta)}\right|\right) \frac{1}{t}\right) \\ &= Dd^{-(\alpha+1)/\beta} \left\{ \frac{e^{iat}}{\beta t^{(\alpha+1)/\beta}} A - \frac{e^{iat}}{\beta t^{(\alpha+1)/\beta}} \int_N^\infty u^{(\alpha+1)/\beta-1} e^{iu} du \right\} + O\left(\frac{2}{\beta t}\right) \\ & \quad + O\left(\left(\left|\frac{g(b)}{h'(b)}\right| + \left|\frac{g(\delta)}{h'(\delta)}\right|\right) \frac{1}{t}\right), \end{aligned}$$

where the constants implied by the O 's are independent of α , β , δ , b , N , and t . The second term of above equation is, as $t \rightarrow \infty$,

$$\begin{aligned} & -Dd^{-(\alpha+1)/\beta} \frac{e^{iat}}{\beta t^{(\alpha+1)/\beta}} \int_N^\infty u^{(\alpha+1)/\beta-1} e^{iu} du \\ &= Dd^{-(\alpha+1)/\beta} \frac{e^{iat}}{\beta t^{(\alpha+1)/\beta}} \frac{1}{i} \left(t\varphi(\delta)^\beta\right)^{\lambda-1} e^{iN} + O\left(Dd^{-(\alpha+1)/\beta} \frac{1}{\beta t^{(\alpha+1)/\beta}} \left(t\varphi(\delta)^\beta\right)^{\lambda-2}\right) \\ &= Dd^{-(\alpha+1)/\beta} e^{iat+iN} \frac{1}{i\beta t} \left(\varphi(\delta)\right)^{\alpha+1-\beta} + O\left(Dd^{-(\alpha+1)/\beta} \frac{1}{\beta t^{(\alpha+1)/\beta}} \left(t\varphi(\delta)^\beta\right)^{\lambda-2}\right) \\ &= Dd^{-(\alpha+1)/\beta} e^{iat+iN} \frac{1}{i\beta} \frac{N^{(\alpha+1-\beta)/\beta}}{t^{(\alpha+1)/\beta}} + O\left(Dd^{-(\alpha+1)/\beta} \frac{N^{(\alpha+1-2\beta)/\beta}}{\beta t^{(\alpha+1)/\beta}}\right) \\ &= o\left(\frac{Dd^{-(\alpha+1)/\beta}}{\beta t^{(\alpha+1)/\beta}}\right), \end{aligned}$$

where $N = t\varphi(\delta)^\beta$ sufficiently large and the constants implied by the O and o are independent of α , β , δ , N , and t .

Thus, as $t \rightarrow \infty$, we have

$$\begin{aligned} & \int_0^b g(x) e^{ih(x)} dx \\ &= DA \frac{e^{iat}}{\beta (dt)^{(\alpha+1)/\beta}} + o\left(\frac{d^{-(\alpha+1)/\beta} D}{\beta t^{(\alpha+1)/\beta}}\right) + O\left(\frac{1}{\beta t}\right) + O\left(\left(\frac{g(b)}{h'(b)} + \frac{g(\delta)}{h'(\delta)}\right) \frac{1}{t}\right), \end{aligned}$$

where the constants implied by the O 's are absolute. This completes the proof.

Lemma 3. *Suppose that the real functions $g(x)$ and $h(x)$ satisfy the following conditions: For $x \in (c, b]$,*

1. $g(x) = D(1 + \theta(x))$, $h(x) = a + d(x - c)^2(1 + f(x))$, as $x \rightarrow 0$;
2. $g(x)$ is continuous and $h(x)$ is twice continuously differentiable and $h'(x) \neq 0$, where a , d , and D are real constants such that $d \neq 0$, $D \neq 0$. The function θ and f are continuous in (c, b) with $\theta(c) = f(c) = 0$;

3. $\frac{d}{dx} \left(\frac{g(x)}{h'(x)} \right)$ has a constant sign as $x \rightarrow c$ and $x \rightarrow b$.

Under these conditions, as $t \rightarrow \infty$, we have, for sufficiently small $\delta > 0$,

$$\begin{aligned} & \int_c^b g(x)e^{ith(x)} dx \\ &= AD \frac{e^{iat}}{2\sqrt{|d|t}} + o\left(\frac{D}{\sqrt{|d|t}}\right) + O\left(\frac{1}{t}\right) + O\left(\left(\left|\frac{g(b)}{h'(b)}\right| + \left|\frac{g(c+\delta)}{h'(c+\delta)}\right|\right)\frac{1}{t}\right), \end{aligned}$$

where the constants implied by the O 's are absolute.

Proof. Substituting x by $x - c$, and putting $\alpha = 0$, $\beta = 2$, in Lemma 2, we obtain Lemma 3.

Lemma 4. Suppose that the real functions $g(x)$ and $h(x)$ satisfy the following conditions:
For $x \in [a, c)$,

1. $g(x) = D(1 + \theta(x))$, $h(x) = a + d(x - c)^2(1 + f(x))$, as $x \rightarrow 0$;
2. $g(x)$ is continuous and $h(x)$ is twice continuously differentiable and $h'(x) \neq 0$, where a , d , and D are real constants such that $d \neq 0$, $D \neq 0$. The function θ and f are continuous in (a, c) with $\theta(c) = f(c) = 0$;
3. $\frac{d}{dx} \left(\frac{d(x)}{h'(x)} \right)$ has a constant sign as $x \rightarrow a$ and $x \rightarrow c$.

Under these conditions, we have, for sufficiently small $\delta > 0$,

$$\begin{aligned} & \int_a^c g(x)e^{ith(x)} dx \\ &= AD \frac{e^{iat}}{2\sqrt{|d|t}} + o\left(\frac{D}{\sqrt{|d|t}}\right) + O\left(\frac{1}{t}\right) + O\left(\left(\left|\frac{g(a)}{h'(a)}\right| + \left|\frac{g(c-\delta)}{h'(c-\delta)}\right|\right)\frac{1}{t}\right), \end{aligned}$$

as $t \rightarrow \infty$, where the constants implied by the O 's and o are absolute.

Proof. Substituting x by $c - x$, in Lemma 2, we obtain Lemma 4.

3 Theorems

Theorem 1 (cf. [T: lemman 4.7, E]). Suppose that the real function $g(x)$ is continuous and $h(x)$ is twice continuously differentiable on $[a, b]$, and $h'(c) = 0$ at just one point c with $a < c < b$, $g(c) \neq 0$, and $h''(c) \neq 0$.

Moreover, $\frac{d}{dx} \left(\frac{g(x)}{h'(x)} \right)$ has a constant sign as $x \rightarrow c + 0$ and $x \rightarrow c - 0$. Then we have for all sufficiently small $\delta > 0$,

$$\int_a^b g(x)e^{ith(x)} dx = 2\sqrt{\frac{\pi}{2t|h''(c)|}} g(c) \exp\left(ith(c) + \frac{1}{4}i\pi \operatorname{sgn}(h''(c))\right) \\ + o\left(\frac{g(c)}{\sqrt{|h''(c)|t}}\right) + O\left(\frac{1}{t}\right) + O\left(\left(\left|\frac{g(c-\delta)}{h'(c-\delta)}\right| + \left|\frac{g(c+\delta)}{h'(c+\delta)}\right| + \left|\frac{g(a)}{h'(a)}\right| + \left|\frac{g(b)}{h'(b)}\right|\right)\frac{1}{t}\right),$$

as $t \rightarrow \infty$ or $b \rightarrow \infty$, where the constants implied by the O 's and o are absolute.

Proof. By the mean value theorem, we obtain

$$h(x) = h(c) + (x-c)h'(c) + \frac{1}{2}(x-c)^2 h''(\xi), \\ = h(c) + \frac{1}{2}h''(c)(x-c)^2 \frac{h''(\xi)}{h''(c)},$$

where ξ is the number between c and x .

Since $h(x)$ is twice continuously differentiable, we have

$$\frac{h''(\xi)}{h''(c)} \Big|_{x \rightarrow c} = \frac{h''(c)}{h''(c)} = 1, \quad \xi = h''^{-1}\left(\frac{2(h(x)-h(c))}{(x-c)^2}\right),$$

where ξ is continuous function of x . Thus we can set $\frac{h''(\xi)}{h''(c)} := 1 + f(x)$, continuous function such that $f(c) = 0$. Also we set $\theta(x)$ continuous with $\theta(c) = 0$ by $g(x)$ being continuous. Applying Lemma 3 and 4 with $\alpha = 0$, $\beta = 2$, $a = h(c)$ and $d = h''(c)/2$, we obtain

$$\int_a^b g(x)e^{ith(x)} dx = \int_a^b g(x)e^{ith(x)} dx + \int_c^b g(x)e^{ith(x)} dx \\ = 2AD \frac{e^{iat}}{2\sqrt{|d|t}} + o\left(\frac{D}{\sqrt{|d|t}}\right) + O\left(\frac{1}{t}\right) + O\left(\left(\left|\frac{g(b)}{h'(b)}\right| + \left|\frac{g(c+\delta)}{h'(c+\delta)}\right|\right)\frac{1}{t}\right) \\ + O\left(\left(\left|\frac{g(a)}{h'(a)}\right| + \left|\frac{g(c-\delta)}{h'(c-\delta)}\right|\right)\frac{1}{t}\right),$$

where the constants implied by the O 's and o are absolute.

This completes the theorem.

Theorem 2 ([cf. [Gr-Ko] [T: lemma 2.4]) *Suppose $g'(x)$ is monotone with $g(x) > 0$ and $g'(x) \leq 0$. Suppose $f(x)$ has twice continuously differentiable on $[a, b]$ and also that $f'(x)$ is monotone. Let H_1 and H_2 be such that $H_1 < f'(x) \leq H_2$ and $H = H_2 - H_1 + 2\varepsilon (\geq 2)$. Then for any $\varepsilon > 0$, we have*

$$\sum_{n \in [a, b]} g(n)e^{2\pi if(n)} = \sum_{H_1 - \varepsilon < m < H_2 + \varepsilon} \int_a^b g(x)e^{2\pi i(f(x) - mx)} dx + O(g(a) \log H),$$

where the constant implied by the O is an absolute constant.

Proof. The proof runs along the same lines as [T].

The estimation of $\int_a^b g(x)e^{ih(x)} dx$ using saddle point method

87

$$\sum_{n=a}^b g(n)e^{2\pi if(n)} = \int_a^b g(x)e^{2\pi if(x)} dx - \int_a^b g(x)e^{2\pi if(x)} d\Psi(x) + c_1, \quad (2)$$

where $c_1 = g(b)e^{2\pi if(b)} - g(a)e^{2\pi if(a)}$.

Integration by parts shows that

$$\begin{aligned} & - \int_a^b g(x)e^{2\pi if(x)} d\Psi(x) \\ &= \int_a^b (g'(x) + 2\pi if'(x)g(x))e^{2\pi if(x)}\Psi(x)dx + [g(x)e^{2\pi if(x)}\Psi(x)]_a^b \\ &= \int_a^b (g'(x) + 2\pi if'(x)g(x))e^{2\pi if(x)}\Psi(x)dx + (|g(b)| + |g(a)|)c_2, \end{aligned}$$

where $|c_2| \leq 1$. Since $g'(x)$ is monotone,

$$\left| \int_a^b g'(x)e^{2\pi if(x)}\Psi(x)dx \right| \leq \frac{1}{2} \int_a^b |g'(x)|dx \leq \frac{1}{2} (|g(b) - g(a)|) \leq \frac{1}{2} (|g(b)| + |g(a)|).$$

And

$$\int_a^b 2\pi if'(x)g(x)e^{2\pi if(x)}\Psi(x)dx = \sum_{m \neq 0} \frac{1}{m} \int_a^b g(x)e^{2\pi i(f(x)-mx)} f'(x)dx. \quad (3)$$

If $m < H_1 - \varepsilon$ or $H_2 + \varepsilon < m$, then $F'(x) - m$ is monotonic and non-zero on $[a, b]$.

Moreover $f'(x)/(f'(x) - m)$ is monotonic and $g(x)$ is monotonely decreasing. By applying the second mean value theorem to the real and imaginary parts, we have

$$\begin{aligned} \int_a^b g(x)e^{2\pi i(f(x)-mx)} f'(x)dx &= \frac{1}{2\pi i} \int_a^b g(x) \frac{f'(x)}{f'(x) - m} d(e^{2\pi i(f(x)-mx)}) \\ &\leq 2g(a) \left(\frac{|f'(b)|}{|f'(b) - m|} + \frac{|f'(a)|}{|f'(a) - m|} \right) \leq 4g(a) \log(H_2 + \varepsilon). \end{aligned}$$

Thus if $m \geq H_2 + \varepsilon$, the above is $2 \frac{H_2}{m - H_2}$. Therefore we have

$$\begin{aligned} & \left| \sum_{m \geq H_2 + \varepsilon} \frac{1}{m} \int_a^b g(x)e^{2\pi i(f(x)-mx)} f'(x)dx \right| \leq 4g(a) \sum_{m \geq H_2 + \varepsilon} \frac{H_2}{m(m - H_2)} \\ &= 4g(a) \sum_{m \geq H_2 + \varepsilon} \left\{ \frac{1}{m - H_2} - \frac{1}{m} \right\} < 4g(a) \log(H_2 + \varepsilon) \leq 4g(a) \log H. \end{aligned}$$

We have the similar upper bound for the terms with $m \leq H_1 - \varepsilon$:

$$\begin{aligned} & \left| \sum_{m \leq H_1 - \varepsilon} \frac{1}{m} \int_a^b g(x)e^{2\pi i(f(x)-mx)} f'(x)dx \right| \leq -g(a) \sum_{m \leq H_1 - \varepsilon} \frac{H_1}{m(H_2 - m)} \\ &\leq 4g(a) \log(H_1 - \varepsilon) \leq 4g(a) \log H. \end{aligned}$$

Therefore

$$\left| \sum_{m \leq H_1 - \varepsilon, m \geq H_2 + \varepsilon} \frac{1}{m} \int_a^b g(x) e^{2\pi i(f(x) - mx)} f'(x) dx \right| \leq c_3 g(a) \log H,$$

where $|c_3| \leq 8$.

We integrate the remaining terms by parts to get

$$\begin{aligned} I &= \sum_{H_1 - \varepsilon < m < H_2 + \varepsilon, m \neq 0} \frac{1}{m} \int_a^b g(x) f'(x) e^{2\pi i(f(x) - mx)} dx = \sum_{H_1 - \varepsilon < m < H_2 + \varepsilon, m \neq 0} \frac{1}{2\pi i m} \int_a^b g(x) e^{-2\pi i m x} d e^{2\pi i f(x)} \\ &= \sum_{H_1 - \varepsilon < m < H_2 + \varepsilon, m \neq 0} \left[\frac{g(x) e^{2\pi i(f(x) - mx)}}{2\pi i m} \right]_a^b \\ &\quad - \sum_{H_1 - \varepsilon < m < H_2 + \varepsilon, m \neq 0} \frac{1}{2\pi i m} \int_a^b (g'(x) e^{-2\pi i m x} - g(x) 2\pi i m e^{-2\pi i m x}) e^{2\pi i f(x)} dx \end{aligned}$$

Since

$$\left| \sum_{H_1 - \varepsilon < m < H_2 + \varepsilon, m \neq 0} \left[\frac{g(x) e^{2\pi i(f(x) - mx)}}{2\pi i m} \right]_a^b \right| \leq \frac{1}{2} (|g(b)| + |g(a)|) \sum_{H_1 - \varepsilon < m < H_2 + \varepsilon, m \neq 0} \frac{1}{m\pi},$$

and

$$\begin{aligned} &\left| \sum_{H_1 - \varepsilon < m < H_2 + \varepsilon, m \neq 0} \frac{1}{2\pi i m} \int_a^b g'(x) e^{-2\pi i m x} e^{2\pi i f(x)} dx \right| \\ &\leq \frac{1}{2} (|g(b)| + |g(a)|) \sum_{H_1 - \varepsilon < m < H_2 + \varepsilon, m \neq 0} \frac{1}{m\pi}. \end{aligned}$$

Thus

$$I = \sum_{H_1 - \varepsilon < m < H_2 + \varepsilon, m \neq 0} \int_a^b g(x) e^{2\pi i(f(x) - mx)} dx + (|g(b)| + |g(a)|) c_4 \sum_{H_1 - \varepsilon < m < H_2 + \varepsilon, m \neq 0} \frac{1}{\pi m},$$

where $|c_4| \leq 1$.

Therefore

$$\begin{aligned} &\sum_{m \neq 0} \frac{1}{m} \int_a^b g(x) e^{2\pi i(f(x) - mx)} f'(x) dx \\ &= c_3 g(a) \log H + \sum_{H_1 - \varepsilon < m < H_2 + \varepsilon, m \neq 0} \int_a^b g(x) e^{2\pi i(f(x) - mx)} dx + (|g(b)| + |g(a)|) c_4 \sum_{H_1 - \varepsilon < m < H_2 + \varepsilon, m \neq 0} \frac{1}{\pi m}. \end{aligned} \quad (4)$$

Therefore by (2), (3), and (4)

$$\sum_{n=a}^b g(n)e^{2\pi if(n)} = \int_a^b g(x)e^{2\pi if(x)} dx + \sum_{H_1-\varepsilon < m < H_2+\varepsilon, m \neq 0} \int_a^b g(x)e^{2\pi i(f(x)-mx)} dx \\ + c_3 g(a) \log H + c_5 (|g(a)| + |g(b)|) \log H + c_6 (|g(a)| + |g(b)|),$$

where $|c_5| \leq 1, |c_6| \leq \frac{5}{2}$.

This completes the proof.

Reference

- [B] N. G. de Bruijn, *Asymptotic Methods in Analysis*, Dover, 1970.
- [D] J. Dieudonné, *Infinitesimal Calculus*, Hermann, 1971, (pp. 115–119).
- [E] A. Erdélyi, *Asymptotic Expansions*, Dover, 1956.
Chap. 2, Sec. 2.9, The method of Stationary phase.
- [G] K. Goto, *Application of the saddle point method to trigonometric series*, preprint.
- [Gr-Ko] S. W. Graham and G. Kolesnik, *Van der Corput's Method's of Exponential Sums*, London Mathematical Society, Lecture Notes Series 126.
- [T] E. C. Titchmarsh, *The Theory of the Riemann zeta-function*, Oxford, 1951.

